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5.2.1 #=9 HEUZFT A A
o2 BAA] AN

1) #EO = At A9 W= etus KawE FUE 52 MA|S[OF i,

2) #=9 MY, FouF, Bk, SN 52 YO Oic NMsBEE MASI= Hol
C

3) OAMACIE EEF 900mmPOIStE 120cmPly, #F 1,000mm °|¥2 150cm
o2 = 3for oty (FE )

4) PHIAIMS iEol= S22 HO M| fiOF Sttt

5) SHE AMNEE M= §9] MFE 15519 MH[B O Bt}

6) OHANOIE Of¢ 21 stofor & M= & 252 MNP

7) HE2 EPE M 4 U5 AgE2 f099 #H=El] Fr /5 49 259
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2) 2220 4l

5.2.2 +=2 T2a5 &4

1. Manning 3Al

Q=AXV

| 9/38 ~1/9
) A

I

= WLE, A2 25 0|8

== v B S

73 (mds) A
75 (m/s) P
88 (A/P) I
YR (B HATFE)
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2) 2220 4l

5.2.2 +=2 T2a5 &4

1. Manning 32!

O3 20| LHIEO| 5m, YZHH ZHAIL 1:2, £40] 2m, $27
HiZF 1/3,000Q! AlCl2|ZE 232|E £29 |&H(m 3/sec) TSN 2.

Ct == 1 pos . IY2 ZEAS =0.013

T

L 1 /9
Manning&4] :v = = R*3 . 1244

[~ 5m—|

=

!r—* Nl

A= ; (547) X 2=12m?
P=54+2x V1’42 =9472m
1

12 2/3 1 1/2
Y= 0013 X (9.472) X (m) = 1.644m/sec

. Q= Av=12m* X1.644m/s = 19.73m*/sec
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2) 2220 4l

5.2.2 +=2 T2a5 &4

2. Ganguillet-Kutter (ZH°l-FE)3A

Q=AXV Q: &% (m¥s) A : £E0HA (m2)
V: %5 (m/s C: g51%¢
V= C+/RI (— Chezy’sequ.) R4 (/s T
1 0.00155 R : 88 (A/P) n: 2cH4
o BEIRtTT = 1 543 (ah)
‘1+ 23+000155
( ) 7R
<G-K Mo ZEH4 nH#
sl 0.013 A3 ER 0.012
Pl 0.013 ks 0.012
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2) 2220 4l

5.2.2 +=2 T2a5 &4

2. Ganguillet-Kutter (&°l-7H)&A

<M 5-1> F4} oIt FXIml We=9 {FF2 SN2,

(R, 1=5/1000(5%), n=0.013)
1 0.00155

23+ + =
000155, 1 X VR

1 )H@

53 1 0.00155

*t000137 5 P
v 1000 H\/
0.013

V:
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2) 2220 4l

5.2.2 +=2 T2a5 &4

Al
AL

2. Ganguillet-Kutter (&HCl-3H)

OF

23+76.923+0.31

V= % 0.041
1+ (23 +0.31) x0.023
_ 100233 0,041 = 2.68
= 1536 < 0% =2.08m/s

"Q=AXV=1m*Xx2.68m/s=2.68m*/s = 231,552m?/d

25



2) 2220 4l

5.2.3 B4R BAREBY

3. Hazen-Williams 241 = H{£a £EHMO 7 ROl 01§

V=084935 X CXR** X 1°%* |q. g3 (ms) A : 42HIE (m)
ZAI AL 2O[SIEE HY Vi &5 (m/s) C: &5M%
Q=0 27853 x C % D263 x [ 054 R: 88 (A/P) | . 58N (4h/L)

<N 5-2> #HO| 300mm, 1=0.004, C=1009| FAIo| o= JUSIA|Q

Q = 0.27853 X C x D*®3 x ] 0°*
= 0.27853 x 100 x 0.3*%% x 0.004°>*

= 0.27853 X 100 x 0.042 X 0.051
= 0.05954.......= 0.06m?/s
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<William-Hazen 42| C A|(O|=m4 X 82))>

3. Hazen-Williams §4!
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2) 2220 4l

5.2.3 &T=2 FIR5s4
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2) 2220 4l
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